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Questions 41-50 =

Read the following passage
and answer the guestions thhat folloswv.

The culture of muclear families is fashionable.
Farents are oftenn heard complaining about the
difficultes of raising children thhese davs. Demmand
for too much freedoin, 1

too much inmndependence:
during mnight parties:; excessive extravagance,

wasting pocket money: there is o time for studies

and the famuily: all this is a common cry of this Yy pe
of families. Arvren't thhe parents themselves
responsible for this sorry state 2 The basic need of
a growing vouth is family, love, care and bonding
along withh moral values. It should not be forgotten
that “charity begins at home™ .

Both independence and individuality rmust
be respected to maintain the sanctity of the family .
Children today must be handled tactfully to bridge
the ever—wwidening generation gap. Only reasonable
demands should be met, as there are too many
expenses to cover and too many social obligations
to be taken care of by the parents. Our ancestors
ILived happily in close-knit famiilies. The children
loved living withh their cousins, they learmed to
adapt to their means. 1T here was perfect harrmony
between the generations. The concept of nursing
homes mever existed. There was deep respect for
the elders in thhe family and love, care and concern

for thhe voung. Even small family differences were
resolved amicably .

473 . What does the passage mply about family

differences in thhe past 7
A) They were ignored and unresolved.

(B) They were often settled through

=TI TrrTTreTTEs-

<) They were resolved harmoniously .

(D3 T hey were niever allowed to occur.



According to the passage, who are
responsible for the state of family life
today ?

(A) The children are blameless

(B) Parents should be blamed

(C) Children’s education is a major hurdle

(D) Generation gap creates the rift

What is the passage’s stance on meeting
children’s demands ?

(A) Parents should meet all demands
without question.

(B) Demands should be met based on the
child’s wishes.

(C) Parents should ignore all demands.

(D) Only reasonable demands shoudld be
met.




How should children today be handled ?
(A) With strict rules and regulations

(B) Tactfully, to bridge the generation gap

(C) By giving them complete freedom

(D) By discouraging any form of
independence

Identify the sentence from the passage which
states a key feature of family life in the past.

(A) Families were isolated from one
another.

{B) Children were less independent and
(C) There was harmony
generations and children loved living

between

with their cousins.

(D) Parents never

argued with their
children.



46.

What is meant by the phrase “charity begins
at home” ?

=)

Wy
>

(B) Moral values should be learned withii
the family first.

(C) Parents should be charitable to their

neighbours.
(D) Parents should be financially generous
to their children.

What is a possible reason for the difficulties

parents face today ?

(A) The increasing number of nursing
homes.

(B) Parent’s failure to maintain strong]
family bonds and values.

(C€) The lack of resources in modern society.

(D) The growing respect for elders in
society.




The common complaint heard from parents

in nuclear families is that

(A)

cniidren demand too much freedom
and independence.

(B)
(<)

(D)

children spend too much time studying.

children spend enough time with
family.
children respect their elders.

What was the general attitude towards elders
in the past ?

(A)
(B)

(<)

Elders were ignored by younger
generations.

Elders were not involved in family
decisions.

Elders were taken care of in nursing
homes.

(D)

Elders were treated with great respect.




= > 1'C ¢ as 1
assage regard as a basic Neeq

outh 7
aterial possessions

What does the P
for a growing ¥y

Wealth and m

(A)
and independence

(B) Freedom

love, care and bonding

(C) Family,

(D) Independence from parents

Which among the sentences j
S

gra mmatically correct 4

(A) They was very tired after the lon
journey. -

The buildings is tall and majestic

(B)

(C) The old lady don’t like to go to the

park on Sundays.

(D) The alley is under construction.




The group excited about the

upcoming trip.

(A) were

was

weren t

are

“Are the boys Playing in the ground ?” the
master asked. This can be reported as :

(A) The master asked whether the boys are
playing in the ground.

(B) The master €enquired if the boy is
Playing in the ground.

(C) The master asked if the boys were
Playing in the Zround

(D) The master asked if whether the boys
were playing in the ground.



The trainer told a humorous story to break
the ice and help everyvone feel more at case.

The sentence implies that :

(A)

(B)

The trainmner used humour to make

people feel uncomfortable.

The trainer told a boring story to help
preople open up.

(<)

The trainer shared a funny story to
reduce tension and make people feel
more relaxed.

(D)

e trainer used humour to confuse the

audience.

The svaiter vwas kind, but thhe customer was
gquite Tude.
Identifyv the word which CANNOT replace

4 3

r

T e oR o

(A)

respectful

(B)
(<)
(D)

impolite
arrogal1l

unpleasant




Identify the news headlines which relates to
an environmental agenda.

(A)

Global Leaders Gather for Historic
Climate Summit in Paris

®)
(©)

(D)

Tech Giants Report Record Protfits amad
Rising Consumer Demand

Local Community Rallies to Support
Flood Victims in Small Towns

World Cup Qualifier : Brazil Triumphs
over Argentina

crowd enjoyed the performance,

did they ?

didn’t they 7

do they 7

aren’t they ?




One among the words gi .
Tdentf it 4 ds given is correctly spelt.
(A) supercede
(B) definately

(C) occured

(D) separately

The word “accommodative’ has

syllable‘s.

(A) hve
(B) six
(C) four
(D) three




60.

The man decided to give up smoking

because of his wife’s pregnancy. What does
the underlined word mean ?

(A) To start doing something new

(B) To stop doing something

(C) To increase the amount of something

(D) To give away something to others

The proverb ‘Don’t count your chickens
before they hatch” means :

(A) Be patient and wait for results before

making plans.
S

(B) Alway

have a backup plan.
(C) It's better to start with your future
preparations.

(D) Never put all your eggs in one basket.




- an old photo album while
cleaning the cupboard.

A) came across

C) came n

(
(B) came over
(
(

D) came along



‘May I take a seat ?” means :

(A)

The speaker is offering someone a seat.
F 24

(B)

I'he speaker 1s asking for permissioll
to sit down.

(©)
(D)

The speaker is refusing to sit down.

The speaker is lifting the seat.

The chef prepares delicious meals every
evening. The passive form the sentence is :

(A)

(B)

Every evening, delicious meals is
prepared by the chef.

Delicious meal is prepared by the chef
every evening.

(©)

Delicious meals are prepared by the
chef every evening.

(D)

Every evening, the chef prepares

delicious meals.




65. I wish I could

(A) runs faster than anyone else.
(B) ran faster than anyone else.

(C) running faster than anyone else.

(D) run faster than anyone else.

She has been working in the company since
2015. The sentence means :

(A) She started working in the company
in 2015 and has just stopped.

(B) She has been working in the company
from 2015 onwards.

(&) She worked at the company only in
2015.

(D) She will start working at the company
in 2015.



A  of migrating birds soared high

above the mounta ins.
(A) team
(B) swarm

(©O) cluster

(D) flock

The mountain was absolutely breathtaking.
The sentence suggests that :

(A) The mountain was so large that it was
hard to see.

(B) The mountain was very huge and
unremarkable.

(CO) The mountain was so beautiful that it
left the observer in awe.

(D) The mountain was too difficult to
climb.



The sight of the accident was disturbing.
Which of the following can best replace
‘disturbing’ ?

(A) calming

(B) unsettling

(C) pleasant

(D) entertaining

I will meet you in

University office.

(A) a/a

(B) the/the
(C) an/the
(D) an/an
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